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PART — & (Question 1 to 20 carry 1 mark each.)

SECTION I : Single correct answer type

This section contain 10 multiple choice question . Each question has four

choices (A), ( B), ( C) &( D) out of which ONLY ONE is correct .

Q.1 | The prime factorization of denominator of the rational number expressed
as 46123 is -

(A) 2" x 5" where m and n are integers.

(B) 2™ x 5" where m and n are positive integers.

©) 2™ x5" where m and r rational integers.

(D)Not of the form 2" x5" where m and n are non negative integers.

Q-2 | The median of the scores 13,23,12,18,26,19,14,25,11 is
(A) 14 (B) 18 (C) 19 (D) 23

Q.3 | Two equilateral triangles have the sides of lengths 34 and 85
respectively. The greatest length of tape that can measure the sides of
both of them exactly is (a) 34 (b) 17 (¢) 51 (d)none of these

Q.4 | For what value of p does the system of equation 2x - py =0,3x+4y =0 has
non zero solution?

(A)p=-6 (B) p=—§(C) p:_g(D) o

5
QS 11t ausC ~ AQRP,M = 2,AB=18 cm and BC=15 cm; then PR is equal
ar(POR) 4

to

(@10cm (b)12cm  (¢) ?cm (d) 8 cm.
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.6 2 0 2 0
? cos(400+6’)—sin(500—6?)+C(.)SZ400+C.OS2 500 =
sin © 40 " + sin © 50
(a) 1 (b) -1 ()2 (@O
Q.7 | The distance between the points (cosé,sind) and (sinf—cos6) is
A3 B2 (©2 D)
Q.8 | The co — ordinates of the point which divides by the line segment joining

the points (3, 5) and (7, 9) internally in the ration 2 : 3 are

(A)[253,353} (B) (;3;3} (©) (353253] (D) none of these

Q.9

The length of the string between a kite and a point on the ground is 85m.

if the string makes angle 6 with the level ground such that tan@z%s,

how height is the kite? (a)68m (b) 75m (c)42m (d) 26m.

Q.10

If x 1s a positive integer such that the distance between the points P(x, 2)
and Q(3,-6) 1s 10, units, thenx=(A)3 (B)-3 ()9 (D)-9

(Q11 - Q15) Answer the following questions

Q.11

If the HCF of 55 and 99 is expressible in the form 55 m - 99, then find
the value of m

Q.12

A girl of height 120 cm is walking from the base of a lamp-post at a
speed to 1.2 m/s. If the lamp is 3.6 m above the ground, find the length

of her shadow after 4 seconds.

Q.13 | If PA and PB are tangents to the circle with the center O such that
ZAPB =507, then £04B is equal to
(A) 25° (B) 30°(C) 40° (D) 50°

OR

In given figure, O is the center of a circle of radius 6 cm. at a distance of
10 cm from O, a point P is taken. Two tangent PQ and PR are drawn to
the circle from this point. Then area of quadrilateral PQOR is:
(A)60cm > (B)28em > (C) 48em* (D) 30cem’

Q.14 | Find the term of the AP 9, 12, 15 ...Which are 39 more than its 36
term?

Q.15 . . . 2 _
If -2 is a root of the quadratic equation X  — px—35= 0 and the
quadratic equation X Pt px+k =0 has equal roots, find the value of k.

Fill in the blanks (Q16 — Q20)

Q.16 | The circumference of the edge of a hemispherical bowl is 132cm. when

ris taken as22 the capacity of the bowl incm’is
7

(A)2772(B)924(C)19404  (D)9702

Q.17 ] 11
If a,p are zeroes of X° —4x +1 = 0then ;‘F ;— aff =......

OR

the zeroes of the polynomial 3\/§x2 +7x— 2\/§ S mmmmemmee

Q.18 | In a AABC,D & E are points on the sides AB & AC respectively such that
DENIBC.If AD = 4x-3,AE=1,BD=3x+4&CE=2,thenx =......

19 .
Q 37t term of the AP : \/;3 3\/;7 5\/;9-"1*9 ____________
Q.20 | A box contains 6 nails and 10 nuts. Half of the nails and half of the nuts

Target Mathematics by- Dr.Agyat Gupta o}

visit us: agyatgupta.com ; Resi.: D-79 Vasant Vihar ; Office : 89-Laxmi bai colony

Ph. : 4010685(0), 7000636110(0) Mobile : 9425109601 (P)

Target Mathematics by- Dr.Agyat Gupta [ 4]

visit us: agyatgupta.com ; Resi.: D-79 Vasant Vihar ; Office : 89-Laxmi bai colony

Ph. : 4010685(0), 7000636110(0) Mobile : 9425109601 (P)




Visit us at www.agyatgupta.com

Visit us at www.agyatgupta.com

are rusted. If one item is chosen at random, what is the probability that it
is rusted or is a nail

3 5 11 14
()15 (b) 7 (©) 76 (D 1g

with it are complementary. Prove that height of tower is 50+/6 m.

Q.25

A box contains 20 balls bearing numbers, 1,2,3,4......20. A ball is drawn
at random from the box. What is the probability that the number of the
ball is (i) an odd number (ii) divisible by 2 or 3 (ii1) prime number

PART —B (Question 21 to 26 carry 2 mark each.)

Q.21

Find the greatest number which divides 285 and 1249 leaving
remainders 9 and 7 respectively.

Q.26

How many balls, each of radius 1 cm, can be made from a solid sphere
of lead of radius 8§ cm ?

PART — C (Question 27 to 34 carry 3 mark each.)

Q.22

The cost of fencing a circular field at the rate of Rs 24 per metre is Rs

5280. The field is to be ploughed at the rate of Rs 0.50 per m2. Find the

cost of ploughing the field (Use n = % :

Q.23

In figure, P, Q and R are respectively the mid — points of sides AB, BC
and CA of A4BC . Show that 4 (PBOR ) = %ar (AABC)

OR
In the given figure, AB || CQ and AC || PQ. If BP =%BC, find the ratio

IJ

A
BQL
of the areas of AABCand AQCP.

Q.27

Prove that +/3 is an irrational number.

OR
Show that the square of any positive integer is of the form 4¢ or 4g+1
for some integers q.

Q.28

Find the two sum which is before and after middle term of the A.P. : 1,
8,15, ........... 505.

Q.29

Draw the graphs of the equations : 4x —y =4 & 4x +y =12

Deter mine the vertices of the triangle formed by the lines
representing these equations and the x-axils. Shade the triangular
region so formed.

Q.30

If the zeroes of the polynomials X P —27x% +234x — 648 are a + b,
a, a - b, find the value of a and b.

Q.31

If the three vertices of a parallelogram A(6,1), B(8,2), C(9,4) . E is the
mid point of CD . Find the area of triangle AED .

Q.24

The angles of elevation of the top of a tower from two points at a
distance of 150 m and 100 m from the foot of tower and in the same line

Q.32

tan A N cot 4
l-cot4 1-tan4
OR
Prove that: (sin® 6—cos8 0)=(sin2 6 — cos? 0)(1-2sin? 6 cosZ2 0) .

Prove that: = ]+ sec A cosecA .

Q.33

The mode of the following frequency distribution is 55 and total
frequency is 51. Find the values of x and y
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Class 0-15 | 15-30 | 30-45 | 45-60 | 60-75 | 75-90

interval
Frequency, 6 7 Y 15 10 X

at G. Prove that 7FE = 10AB.

Q.34

For each corner of a square of side 4 cm a quadrant of a circle of radius 1
cm is cut and also a circle of diameter 2 cm is cut as shown in fig. Find
the area of the remaining portion of the square. (use 7 = 3.14)

A 4 cm »B A B

OR D =
Find the area of the shaded design in Fig. 12.17, where ABCD is a
square of side 10 cm and semicircles are drawn with each side of the

square as diameter. (Use © = 3.14) .

Q.37

Solve the quadratic equation making a perfect square 42x* —17x+1=0.
OR

A peacock is sitting on the top of a pillar , which is 9 m high . From a

point 27 m away from the bottom of the pillar , a snake is coming to its

hole at the base of the pillar . Seeing the snake the peacock pounces on it

. If their speed are equal , at what distance from the whole is the snake

caught ?

PART — D (Question 35 to 40 carry 4 mark each.)

Q.38

A toy is in the form of a cone mounted on a hemisphere of common base
of diameter 7cm. if the height of the toy is 15.5 cm, find the total surface

22
area of the toy (Takez = -

OR

A well of diameter 2 m is dug 14 m deep. The earth taken out of its is
spread evenly all around it to a width of 5 m to from an embankment.
Find the height of the embankment.

Sol.Let n be the required height of the embankment.

Q.35

Construct an isosceles triangle ABC with base BC=6cm , AB=ACand

4

ZA =90. Draw another similar triangle whose sides are 5 times of

the sides of AABC . Justify your construction.

OR
Draw a circle of radius 2 cm with centre O and take a point P outside the
circle such that OP = 6.5 cm. From P, draw two tangents to the circle.

Q.39

The angle of elevation of a jet plane from a point A on the ground is 60.
After a flight of 30 seconds the angle of elevation changes to 30°. If the

jet plane is flying at a constant height of 3600+/3 m, find the speed of
the jet plane.

Q.40

Find the mean for the following distribution by using short cut method :
Xi 15 | 20 | 22 | 24 | 25 | 30 | 33 | 38
Frequency | 5 8 11 |20 | 23 | 18 | I3 2

Q.36

In a trapezium ABCD AB||DC and DC = 2AB. EF drawn parallel to AB

BE 3
cuts AD in F and BC in E such thatE R Diagonal DB intersects EF

***********//**********

| A & GAF HId1 5, T8 38 qav1 o1 013 4 41 sa9f T
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